
////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////
while (1) 
{

// hier ist noch  PORTF = 00000000 und PINE = 11111111

MSG_scroll ("+++ Port3 +++", 2);
PORTF = MCPORT3 ;           // #define MCPORT3     0b00001100

for (ii=1; ii< 5; ii++)
{
Modus = PINF;
KeyTemp = PINE;

sprintf ( msgstr1, "%i , %i ", (char) Modus, (char) KeyTemp);
MSG_scroll (msgstr1, 3);
}
MSG_scroll ("______________", 2);
delay_ms(10000);

///////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////
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